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WEST BENGAL STATE UNIVERSITY

B.A. Honours st Semester Examination, 2022-23

PHIACORO02T-PHILOSOPHY (CC2)

WESTERN LOGIC-1

Full Marks: 50

Time Allotted: 2 Hours

The figures in the margin indicate full marks. eNfes T FerE Fe G ‘Z‘ﬁ?ﬁ folcit e
Candidates should answer in their own words oGERIdiar farera O 19 & AT T
Teq FRE |

and adhere to the word limit as practicable.
All symbols are of usual significance.

GROUP-A / el-&

I. Answer any five questions from the following: 2x5=10

fa=fEie @-@IE A6 0 el nies

(a) Distinguish between a truth functional compound statement and a non-truth
functional compound statement.

FeTiCeE A A @ SSHIe (R AT W = I
(b) What is existential fallacy?
Afgael (M7 SIS a0 ?
(c) Define ‘=’ by truth table.
HCPHAN TN ¢ =- 49 TS WS |
(d) What is Conditional Proof? Explain with example.
A3 2l Ao PP A 9 SRR J
(e) If pv q=F,then determine the truth value of the statement:
~(p=9)
i pvg=F 2, O ~(p = q) -aa FogE fidfad w
(f) Translate the following sentence into Boolean notation and then express it in

terms of Venn diagram:
There are idle men.

fomfife A g8 MPe TS $0 (Safbeaa M w0
e Al MR
(g) Define tautologous proposition.

G HG] I6CAF A MG |
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(h) Symbolise the following:
eoIife Fals
(i) pis the sufticient condition ol g
p EE -9 e %6
() piland only if g.
p A Q3R @3 UM g
(1) Distinguish between complementary term and contrary term.
AP o% @ Ao A Ny 2T Al
() What is meant by argument form? Give an example.

& WiFia 070 & @I 9 9o Srizad wis)

GROUP-B / f[7=ti-4

ro

Answer any fwo questions from the following:
fsERS @1 75 2ivem en mies
(a) What are the differences between exclusive disjunction and inclusive disjunction?
fooral @3 SRRAM SAr-a w1 (e |
(b) Distinguish between Rules of Inference and Rules of Replacement.
SR 9 6 2RI ad W HAiL el

(¢) Determine  whether the following statement forms are tautology, 2
self-contradictory or contingent by means of truth-table:

TR S A4 AFPReE Fossiey, Tosf o Sisifos of {6y T

to|—

(i) p=lpvip>9)]

iy [(p-q)v(~p-~n)=(@=r).
(d) Use the method of Indirect Proof to verify that the following statement is a 5

tautology:
AT 2Nl 7w hod AW & S @ e A gosme):

ADB)v(~A4D0)

GROUP-C / fastat-al

Answer any two questions from the following 15x2 =30
frfefas - 76 eviq Tea wie
3. (a) Test the validity of the following arguments by Venn diagram: 5+5
codfbeaa A fEfais e @aet fom s
(i) All men are liable to error; saints being men are liable to error.

0 e @i YAl W02 ; A a2 6317 Ol e wifeq ¥ S|
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(i) No figs are coconuts. No dates are coconuts. Therefore, no dates are figs.
(1 QYA AIGCHH A1 (Ple] AT w0 #1201 FSAI2 (BT (205 G 7 |

(b) Test the validity of the following argument by truth table method:

4. (a)

(b)

(c)

1074

oA M fmfie 3 ha tare Fvig s

I terrorists” demands are met, then lawlessness will be rewarded. If terrorists’
demands are not met, then innocent hostages will be murdered. So cither
lawlessness will be rewarded or innocent hostages will be murdered.

afv Baloi3iond i) WA 2, ol Saiee] sy 2@ A Saeified Wi il A 2,
iR folz SRl 4 29| Sfodls, 2 SRIGES! SEFS 20q Sl iz el 3
2[R

Determine whether the following statements are tautologous or not by using
truth-tree method:

ORI AEfS 2ol I 53 Al Fosvre) a1 rtes
) (P=0)->[Q—>R—(P->R)

(i) 4—-[(4— B)— B].

Use truth-tree method to test the following argument:

SO St el Fa Fafatie ey taxe! Ko wt

A< B
A—B
OR /99t

A—>B,B->C,C—-D
nA—D

Use truth tree method to determine whether the following propositions are
consistent:

e~ 2ol e e are T smies)d R Rvta wei:
A—-C
B—C
-4
-A—->-C

Construct formal proof of validity of any three from the following arguments
(Do not use C.P. or I.P.):
frafe @-cel foals IfeR Silee aael e sl (C.P. 1 LP. I3%[ 3
T ):
(i) Rv(S-~T), (RvS)o(Uv~T)

~IToU
(i) (Ho P)-(SoW)/ .. (HvS)D(PvW)

(iii) If the Indian Team wins this game, then it will win the series. Therefore, if
the Indian Team wins this game, then if it continues to hit then it will win

the series.

4+4

5x3=15
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% SIEelE W @3 A (Tre, ok okl st fare e ol 2 ufw Srey ws
93 2= (wre R T o SEH o 51T T, O@ oIk FEEh e TR

(iv) Socrates was a great philosopher. Therefore. either Socrates was happily
married or else he was not.

T aTEn RTe W RE )| Se4E, WEow [eRe SRS TR RN 3
@@Zﬁ?ma

6. (a) Use the method of Conditional Proof to prove the validity of the following
argument:

A TF AR simfea A R feha ee ame s
AD(Bo()
Bo>(C>D) .. AD (B2 D)
(b) Use the method of Indirect Proof to prove the validity of the following argument:
ACAF &Nl iafod M Efzfre yfeha tare e @
AD(B-O)
(BvD)y>E
Dv A
~E
(¢) Prove the invalidity of the following arguments by the method of assigning truth
values:
HETI] WA Pafoa F fHowa Yfeefna staret 2w s
) SoTot)
VoW o0)
IToW-w)
~(I'-X)/..S=U
(1) ¢o2D
~C>D ~A

~-D>~B/:.~-B>~ A
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